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MAX 100
MIN 15
BERE 27.5

3,800 SiEs2

)| F—/L | B8R | | R | RER | B
1 »HTZ 100 83 3300 1
1 EQUIE? 100 91 3235 2
1 L 7 ke 100 91 2835 9
1 TPP 100 72 2'790 10
1 E X 100 86 2545 12
1 a7 100 72 1890 23
1 % R 100 69 1745 26
8 COCO 85 88 3190 3
8 AN 89 83 2900 7/
8 »H 1L 85 75 2550 11
8 T. K 85 58 2435 14
8 nao 85 74 2235 18
8 x/ 85 37 1860 24
8 Y UK | 85 75 1000 38
15 Ry v — 80 83 2985 5
15 AR, 80 77 2880 8
15 Z N 80 58 2535 13
15 v a3d— 80 76 1940 22
15 mapl e 80 62 1830 25
20 Lz 65 /8 2995 4
20 < v F 65 79 2950 6
20 237 65 66 2285 17
20 N BA 65 38 1470 33
24 Shin. 60 69 2345 15
24 = O L 60 44 1495 32
26 b LX 50 72 2180 21
26 =F A 50 39 1705 28
26 A 77 2 50 38 1575 31
26 SN E 50 38 650 40
30 Y. K 45 68 2315 16
30 HUOT 45 40 1720 27




201 F—L | 85 FROR [ RER | IBA
32 BE 35 46 1090 37
33 CEL e A 30 56 2205 20
33 Bbh~uv | 30 39 1605 30
33 M a x 30 61 1335 34
36 YA 15 62 2210 19
36 7yFA | 15 43 1645 29
36 T—La| 15 30 1150 35
36 v—7 15 32 980 39
=3 1 2 3 1 5] 6
1E A% 1|1 3]l4]11]1/| 2
iE AE = 82%|64%|46%| 74%| 62%| 69%
AX 1 321 5 6 |29]124]| 3
Ak 2 1|l 4| 2] 3] 4]|27
Ax 3 2 125]| 6 3 3 2
AX 4 1 3 118 1 3 S
AX 5 3 2 7 3 5 2
AT 2, 15 15 20 15 20 15
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